
Exercises 

1 RBCs qre produced from stem cells in the bone vn^now* Wben RBCs mature, they discard,tbeir 
DMA gnd mitochondria to mgke room for more hemoglobin. Thus, they hsve no nucleus, no 
DNA, snd do not divide, 

3) Wbst important biochemical reactions occur in mitochondria , . 

b) Without mitochondria, bow c^n RBCs produce energy/ 

2, Wb^t ^re tbe three bgsic building blocks o f g nucleotide/ 

15 

3, Construct AMP from its 3 bgsic p^rts; phosphate, adenine, (k deoxyribose, 

4, In DNA, 
3) wbgt (s tbe n^me oftbe sucjgt- in tbe sucj^r-pbospbgte backbone/ 

IS- ' 
b) where does tbe phosphate group bond to tbe sugsr/ , 

cr / 

c) wbgt Kthe n^me^ftbe four N-bgses/ 

d) where does the N^bgse sttgcb to the suggr-pbospbste backbone/ 

• v 
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5. In RNA, 

3) wbgt is tbe n^me oftbe suggn'n tbe suggr-pbospb^te bgckbonei' r . 

b) where 4oes tbe pbospbgte group bon4 t o tbe suggr/ / 

c) whgt is the name oftbe four N-bgseS!* , , 

/V- aAai/u>ĵ  uracil Gr--^ooKiv^L C - a ^ f o s t ^ 
4) where 4oes the N~bgse gtt^cb to tbe suggr-pbospbgte backbone/ ^ j 

6, Point arrows to tbe pbosphoesters bon4s 3n4 Igbel them "PE". Point grrows to the 
pbospbognby4W4e bon4s 3n4 table them "PA" in the molecules below, 

N 

y 
11 

O - P - O - P - O - P - 0 

NH 2 

0 = P — - - 0 OH 

TEL 
cAMP Cg4enosine cyclic monophosphate) 

7. In terms of DNA gn4 RNA structure, wbgt 4o tbe terms 3'-terminus gn4 S'-terminus megn/ 

8. Briefly 4escribe tbe primary, secon4gry, gn4 tertigry structure o f DNA, (O^Cjj(^ 

- ^boi/vi l^ ta-Ho/v basics, 
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9. Wbgt 3re the complimentary bqse pgirs for DNA/ 

10. Wbgt gre tbe complimentary bg.se pgirs for RNA/ 

\  11, Whgt force hol4s tbe double strgn4e4 DNA together/ 

12, What are b i s t o r t , , . , A \/l 

C^D ^6t>rv^\) Si^KKiiS 
13, Wbgt gre nucleosomes/ / ' / A " t f\ 

14, Whgt is chromatin/ \ f v 

15, Sglt bridges plgy g role in the interaction between PNA gnd histones, Which gmino gcids bgve 
. side chains tbgt cgn form sglt bridges/ 

16, When PNA is denatured; which oftbe following is disrupted - primgry, secondary, gnd/or 
tertiary structure? Hint; Apply your knowledge o f protein structure, 

17, The primary structure o f wbgt molecule is regd during egcb oftbe following processes/ 

3) PNA replication ^^(MA" 

b) Trgnscription 

c) Trgnslgtion \ ( ^ \ 

Ch 15 Nucleic Acicjs-16 



18, Describe tbe trgnslgtion process, 

b o i M , ^ oAta^S -k^MAr^ rvi?J\J/V«i 

19. Ngme gn4 describe two types o f matgtions, ' . , 

20, Are gll mutation harmful to an individual!' Explain, C\C\ ^ 

21, Are gll mutgtions pgssed on t o offspring/ Explgin, 
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